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#include <stdio.h>
#include <math.h>
#define N (3)
#define EPS (le—15)
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int main(void){
double a[N+1][N+1], x[N+1], b[N+1];
double dx, absx, sum, new;
int i,j;
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// 0000

// 0000000

do{ // 00000000

dx=0.0;
absx=0.0;

for (i=1;i<=N;i++){
sum=0;
for (j=1;j<=N; j++){
if(i = j){
sumt=a[1][j]*x[j];

}
new=1.0/a[i][i]*(b[i]-sum); ,// 000000000
dx+=fabs (new—x[i]); // 000o0o0o0oo0oooao
absxt+=fabs (new); // 00000000
x[i]=new; // 000000000
}
}while (dx/absx > EPS); // 0o0oooao

for (i=1;i<=N;i++){
printf (”?x[%d]=%25.20f\n" ,i,x[i]);

return 0;
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